DIVISIBILITY, INTEGERS, POWERS
AND ROOTS TEST - 2° ESO

Exercise 1: (1 point) The La Palma volcano has covered about 1024 ha with lava. If | were to place all the
lava forming a square, how many meters would every side measure? What would its perimeter be?

3200 m on every side — 12800 m of perimeter

Exercise 2: (1 point) Work out:

a) [3]11 b) (-3)° =81 o) —1" =— d) 5% =
2 343

Exercise 3: (0.75 points) The Roman Emperor Claudius was born on the year 10 BC and died on the year
54 AC. How old was he? He was 64 vears old

Exercise 4: (1.5 points) Work out the value of the following expressions:

3) 2-5° =34 +5-4"—(-1) =14
b) 7 —y25+6:(-2)-3(36 - =

Exercise 5: (2.25 points) Work out the value of the following expressions:
3

H}[EII'G}_ -ad’=a b}{ -.:;::"):Jn:_‘*=34:I
o (373 (3 )= 5 a7 5):(v5)=
e) 2°-57 =200

Exercise 6: (1.25 points) Work out the value of the following expressions:
a’b’-a a° b) 1872 1
atb?b B 976" -3 2%

a)

Exercise 7: (1.75 points) Work out:

a) 31600000000 =200 b) 43184 =72
5 .35 3
o) Yy _xw d) 3343000 =70
40 ]
w ¥

Exercise 8: (0.5 points) Work out the highest common factor of 25 and 81  hgf(25.81)=1
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